(a)

	
	Break Point
	Slope 1
	Slope 2

	Rice
	
	
	

	A
	30.6
	0.35
	-0.67

	G
	15.8
	-1.73
	0.00

	C
	30.6
	-0.48
	0.66

	T
	17.5
	1.46
	0.00


(b)

	
	
	 
	 
	 
	 
	Slope 1
	 
	 
	 
	 
	
	

	
	
	Positive
	
	Negative
	
	

	
	
	A
	G
	C
	T
	
	A
	G
	C
	T
	
	

	
	14.1
	1.5
	1.1
	10.5
	
	7.2
	32.6
	43.5
	9.5
	Positive
	

	Segmented Regression
	
	
	
	
	
	
	
	
	
	
	Slope 2

	
	42.2
	14.1
	12.5
	40.6
	
	0.7
	13.7
	13.6
	1.3
	Negative
	

	Linear Regression
	13.3
	2.3
	1.7
	2.2
	
	1.6
	11.0
	7.8
	12.0
	
	

	Not Fitted
	20.9
	24.8
	19.7
	23.9
	
	
	
	
	
	
	


